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LAW
PAPER - II

C10]
WA - 11

This paper contains FIFTY (50) multiple-choice questions. Each question

carrying TWO (2) marks. Attempt All the questions.
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- Doctrine of Stare decisis has been

recognised in the Const.it'ution by:
(A) Article 141
(B) Article 142
(C) Article 129
(D) Article 215

The President of India takes
decision on disqualification of any

member of Parliament on the .

recommendation of the :

(A) Pariiament

(B) Council of Ministers

(C) Speaker of the Lok Sabha
(D) Election Commission of India

Money Bill can be introduced in:
(A) Lok Sabha

(B) Rajya Sabha, with the
‘permission of the President

Lok Sabha, with .the

permission of the President

(C)

Both the Houses with the
permission of the President

(D)
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Which one of the Directive 4. -{ld-unial uzu-Odl sai

Principles of the State Policy
provides for separation of
Judiciary from the executive ?

(A) Article 50

(B) Article 51

(©) Article 51-A
(D) Article 39-A

While Proclamation of Emergency
is in operation, the State
Government :

(A) cannot legislate

(B) can législate only on the
subject in Concurrent List

(C) can legislate only on the
subject in the State List
(D) is suspended

India is a ‘Union’ of States. This
means that :

(A) The Indian Federation is not
the result of an:agreement
between States

(B) The original Federation of
States gave way to the
sovereign republic

(C) The Constituent Assembly
has created the Union of
India

(D) That the making of the Indian

- Union was preceded by the

prolonged  struggle for
Freedom from Foreign rule
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B -

7. Consider the following and state
which one is correct :

1. The Supreme Court’s power
to issue writs is narrower
than that of the High Courts,

2. A citizen is free to approach

High Court as he chooses,

- whenever his fundamental
right is violated.

3. The law declared by the

Supreme Court is binding on
all courts throughout India.

Codes b

(A) 1 alone

(B)-1 and 2
(C) 1,2 and 3

(D) 2 and 3

8. According to Austin ‘Sovereignty’
is :

(A) Indivisible
(B) MUlimitable
(C) Continuous
(D) All of the above

9. ‘Pure Theory of Law’ has been
' given by :

(A) Kelgsen
(B) Austin
(C) Locke

(D) Hobbes
Law-I1
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10.

11,

Roscoe Pound has been miain 10.

proponent of which theory :

(A) categorical imperative

(B) social solidarity
(C) social engineering

(D) utilitarianism

The theory of ‘Living Law’ has 19

been propounded by :
(A) Eugen Ehrlich
(B) Karl Renner

(C) Jerome Frank
(D) Thomas Acquinas

.................. centre of gravity of

12.

legal development lies not in
1egislation, nor in juristic science
nor in judicial decision, but in
society itself.” It is pmpouﬁdéd
by:

(A) Roscoe Pound

(B) Salmond

(C) Ehrlich

(D) Savigny
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13.

14.

15.

The jurist who supported the 13,

deterrent theory of punishment

was :
(A) Maine
(B) Salmond
(C) Pound

(D) Kelsen

The headquarter of International 14,

Court of Justice is at :
(A) Geneva

(B) The Hague

©) New. York

(D) Melbourne

Which of the following is the
specialised agency of U.N. ?

(A) ILO (International Labour

Organisation)
(B) FAO (Food and Agricultural
Organisation)

(C) UNESCO (The United
Nations Educational, Social
and Cultural Organisation)

(D) All of the above

Law-11 7
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16.

17.

18.

19.

Doctrine of Pacta Sunt Servanda

" is borrowed fz_-om :

(A) Roman Law

(B) English Law

(C) Law of USA

(I)) .Chinese Law

Which of the following is not the
source qf International Law ?
(A) The general principles of Law
(B) Treaties

(C) Custom

(D) Legislation of the different
countries

International Law is the vanishing
point of Jurisprudence. Who said ?

(A) Holland

(B) Starke

(C) Lord Coleridge

(D) Anzziletti

A born Christian girl brought up

by a Hindu family married a

Hindu boy as per Shastrie

Ceremonies. The marriage is :

(A) invalid '

(B) valid |

(G) voidable at the option of the
: glrl

(D) voidable at the option of the
boy _ _

Law-11
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21.

The Supreme Court held that a
Hindu husband after conversion to

" Islam cannot marry again till his

pre-conversion marriage is

dissolved in the case of :
(A) S. Nagalingam Vs. Sivagami
(B) Seema Vs, Ashwani Patel

(C) Naveen Kohli Vs. Neelu
Kohli

(D} Lily Thomas Vs. Union of
India

Marriage of a Hindu who gets

married to his maternal unecle’s

daughter is :

(A) void unless protected by

custom or usage

B) void

(C) voidable

(D) valid

Divorce by mutual consent in
Muslim law is called :

(A) Hadith

(B) Khula or Mubarat

(C) Batil

(D) Fasid

Law-II
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23.

24.

25.

Which one of the following is a
ground for annulment of marriage
under Section 12 of Hindu

Marriage Act 1955 ?
(A) Impotency

(B) Cruelty

(C) Desertion

(D) None of the above

A Hindu wife stops having

physical relations with her
husband. She is otherwise looking
after the husband. Can the
husband claim ?

(A) Restitution of conjugal rights
(B) Divorce

(C) Judicial separation

(D) (B} or (C)

A contract entered with a lu.uatié

. during his sound state of mind is :

(A) void

(B) valid
(C) void ab initio

(D) voidable

Lﬁw—II
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‘A’ agreed to sell hig Bike to ‘B’

at gun-point. This contract is void

as it involves :

(A). compﬁ]sion,

(B} coercion

(C) defamation

(D) undue influence

Which of the following is a void
agreement ?

{A) Anp agreement collateral to a
wager
(B} An agreement to agree in

future

(C) An agreement to refer all
future disputes in connection
with a contract to arbitration

(D) A contingent contract

Amit aged 17 years, borrowed
money from a moneylender

representing himself to be a 21

- year old. Identify the legal

consequence :
(A) he can be sued for fraud
(B) he cannot be sued for fraud

(C) he is liable to repay the

amount

(D) all of the ahove

Law-I1
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29. Which of the following agreement 29,

is valid ?

(A) Agreement without
consideration

(B) Agreement which uncertain

(8)

(D)

30. The damages awarded in case of  30.

Agreement in restraint of

legal proceeding

None of the above

breach of the contract is :

(A)
B)
(©)

(D)

31. An act in necessity as a defence  31.

general damages
exemplary damages
nominal damages

all of the above

under law of torts was recognised

in :

(A)
(B)

()

(D)

Law-I{

Ryland Vs. Fletéher

Cherubin Gregory Vs. State
of Bihar

Krich Vs. Gregory-

Stanley Vs. Powell
12
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32. Motive or state of mind of tort

feasor is irrelevant in the torts of :
(A) defamation and conspiracy
(B) trespass and neglligve—nce

(C) conspiracy and  false
imprisonment

(D) malicious prosecution and
nuisance

Who defined tort as “tortious

liability arising from breach of

duty primarily fixed by law. This

duty is towards persons generally

and its breach is redressible by

an action for wunliquidated

damages.” ?
(A) Pollock
(B) Salmond

(C) Street

- (D) Winfield

While dealing with the liability of
an -enterprise engaged in
hazardous activities the Supreme
Court laid down the rule of
“absolute liability” in :

(A) N. Nagendra Rao Vs. State of
AP

(B) Jailakshmi Salt Works Ltd.
Vs. State of Gujarat

(C) M.C. Mehta Vs. Union of
India

(D) Jacob Mathew Vs. State of
Punjab
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35. Wagoh Mound case deals with :  35.

37.

(A) Joint tort-feasors

(B) Vicgrious liability

(o)) Rem;)teness of damages
(D) Composite tort-feasor
Res Ipsa Loquitur means :
(A) Reasonable foreseeability
B) Thiﬁgs speak for itself
(C) Damages without harm
(D) Proof of damage

To hold a person guilty for
conspiracy under Section 121-A of
the Indian Penal Code, it is

necessary .

(A) two perasons should agree to

commission of an illegal act

(B) two persons should agree to
do a legal act by illegal

means

(C) all persons involved should

- 37,

do some act in pursuance of

that agreement

(D) both (A) and (B)

Law-11
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39.

After a plane crash in a village,
the villagers removed all valuables
from dead bodies of the crash. Are
the villagers liable for :

(A) theft

(B) criminal breach of trust
(C} criminal misappropriation
(D) none of the above

Bring the odd one out :

(A) mistake of fact

(B) insanity

(C) right of private defence
(D) infancy

X’
madness, attempts to kill ‘A’ ‘A’
in order to protect himself kills

under the influence of

X, Is ‘A’ guilty of an offence ?
(A) ‘A’ is guilty of murder

(B) ‘A’ is guilty of culpable
homicide not amounting to

murder
(C) ‘A’ is guilty of grievous hurt

(D) None of the abo_ve

Lawd]
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4].

42.

(a)

b

)

d

In an offence of dowry death, a

person is held guilty of an offence
under Section :

(A) 302 of IPC

(B) 304-B of IPC

(C) 304-B and 498-A of IPC

(D) 307 of IPC

Make proper groupings :
Group A Group B

Non-composmentis 1. Ignoranceof

law is no

excuge
Ignorantia juris 2, Nooneis
non-excusat guilt;V without
guilty mind
Actus non facit 3. Not of sound
nisi mens sit rea mind
Terminus ad quo 4. Commencing
and terminus ad with an accusa-
anem tion and expir-
ing with final
verdict
Code :

(A) (@3, (B)—1, (c)—2, (d)—4
B) (a)—1, B)}—3, (0)—2, (d)—4
©) (@) —2, b)—3, c)—1, (d)—4

(D) (a)—4, B)—2, ()3,

Law-n
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Right to free legal aid and speedy
trial were recognised as

fundamental rights in :

(A) M.C. Mehta Vs. Union of

India

(B) Vineet Narain Vs. Union of

India

-

(C) Hussainara Khatoon Vs.
State of Bihar '

(D) Sunil Batra Vs. Delhi
" Administration

Cheating by personation 13 dealt

under which provision of Indian
Penal Code ?

(A) 415
(B) 416
(C) 420

(D) 422

. Which article speaks of equal pay

for equal works ?

(A) Art, 36

(B) Art. 14

(C) Art. 39%d)

(D) Art. 50

Law-I1
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47.

" (B) compensation

‘Wages’ means (under ID Act,
1947) : '

(A) all remuneration capable of

being expressed in terms of
~ money '

paid to

workers

(C) allowances paid for children’s

education
(D) none of the above

Which of the following can be
included within the definition of
Industry ?

(A) Hospital

(B) University

(C) Hair cutting saloon

(D) (A) and (C) only

The study of conciliation officers
ghall be ...cocccveicrnareene {under ID Act,
1947). '
(A) to mediate in and promote

the settlement of industrial

disputes

(B) to order the parties to act in

a particular manner
{C) to issue judicial orders

(Dj none of the above

Law-11

47.

18

WelBLs as xARUY, 1er9
wd ‘Qat’ v2d ¢

(A) ~uQisly e alag
Adt

(B) HMERA HAG A0dR

(©) siAsil [am W2 wadi
[ TER)

M) Gu V4 8

AA-pnidl sidl ‘Gaia’ L
el wde s asw

a) sivled

(B) lasafaenau

© 3 safan

(D) §5d (A) 2 (C)

At sl s -
(aiieils as  afafHuy,
QY9 S5U)

(a) >UedBLs asAUAL AUl
yeyaell odq dd dsUR
Rus22 2 siiiert 2iNg

B s 58 Alssa Ad
adail 2uta sunal

(€) ~UAs gsAl s

(D) GURLsd 1A sidum «dl




. Collective bargaining is :

(A) the process in  which

conditions of employment are

determined by agreement

(B) the .' process in which

conditions of employment are

imposed

(C) the process in which

- conditions are negotiated
~in  which

(D) the process

conditions are discussed

40, wylas Aerl A -

‘I'rade dispute’ under Trade

Union Act, 1926 is :

(A) any dispute between

employers and workmen

(B) between workmen and

workmen

{O) between employers and

employers

(D) all the above (A), (B), (C)

Law-II
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ROUGH WORK
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